
Trug Life

Write the answers to the following questions.

Sten has sowed some flower seeds in a row 
that is 30cm long. 
He plants some more seeds, and now the row 
is 56cm. 
How many centimeters did he add?

Sten has a sunflower that is 36cm tall. 
He wants it to grow to be 66cm tall. 
How many centimeters will it have to grow?

Sten’s garden trowel is too long. 
It is 85cm long. 
He finds another one that is 25cm shorter, 
how long is that trowel?

Granny’s rosemary bush is 45cm tall. 
It has grown 15cm since last year. 
How tall was it last year?

Part of the garden fence has blown down. 
The fence was 25m and now it is only 16m. 
How much of the fence has blown down?

Sten is laying a path from the patio to the 
garden shed. 
The path needs to be 29m long. 
He has already laid 8m. 
How many more metres does he need to lay?

The path from the rockery to the green house 
is 13m. 
Sten adds another 12m to the path, to reach 
the water feature. 
How long is the path now?

Sten plants some daffodil bulbs in a row. 
There is 77cm between the first lots of bulb. 
There is a further 32cm between the next bulbs. 
What is the total distance between the bulbs?


